XC STEM Ti SCREW
ASSEMBLY_ 2019 UPGRADE KIT_STSPO38

M5x16 Screw x2
l MS16TI (Ti)

M5x16 Screw x 2
MEIETSSWTL

70mm 0° Stem body ,
STSPO37

@ M5x20 Screw x4
l l MS20TT (Ti)

Front plate
STSPO35

M5x20 Screw x 4
MSE20TSSWTL

, M5x16 Screw x 2
M516TSSWTL

90mm 0° Stem body ,
STSPO36

Front plate
STSPO35

M5x20 Screw x 4
ME20TSSWTL

HOPETECH.COM

f y v




